

## City of West Allis Matter Summary

· · · · ·

7525 W. Greenfield Ave. West Allis, WI 53214

File Number Title Status R-2009-0138 Resolution Introduced Resolution to approve bid of Capitol Pavers, Inc. for alley reconstruction in various locations in the City of West Allis, in the amount of \$1,210,956.00. Introduced: 6/16/2009 Controlling Body: Public Works Committee Sponsor(s): Public Works Committee adopl COMMITTEE RECOMMENDATION MOVER SECONDER AYE NO PRESENT EXCUSED **ACTION** Barczak DATE: Czaplewski Kopplin Lajsic Narlock Reinke Roadt Sengstock Vitale Weigel TOTAL SIGNATURE OF COMMITTEE MEMBER Member Chair Vice-Chair COMMON COUNCIL ACTION NO PRESENT **EXCUSED** AYE **SECONDER** MOVER **ACTION** Barczak DATE: Czaplewski Kopplin Lajsic Narlock Reinke Roadt Sengstock Vitale Weigel

TOTAL



### **City of West Allis**

7525 W. Greenfield Ave. West Allis, WI 53214

#### Resolution

File Number: R-2009-0138

Final Action:

JUN 16 2009

Sponsor(s):

**Public Works Committee** 

Resolution to approve bid of Capitol Pavers, Inc. for alley reconstruction in various locations in the City of West Allis, in the amount of \$1,210,956.00.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of Capitol Pavers, Inc. for 2009 Project No. 7 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of Capitol Pavers, Inc. for 2009 Project No. 7

#### alley reconstruction in:

- 1. E/W alley between S. 60 St. and S. 61 St.: W. Grant St. to W. Lincoln Ave. PLAN FILE NOS. AP-400 & U-2475
- 2. N/S and E/W alleys between S. 72 St. and S. 73 St.: W. Rogers St. to W. Becher St. PLAN FILE NOS. AP-401 & U-2476
- 3. N/S and E/W alleys between S. 89 St. and S. 90 St.: W. Vincent Pl. to W. Orchard St. PLAN FILE NOS. AP-402 & U-2477
- 4. N/S and E/W alleys between S. 80 St. and S. 81 St.: W. Grant St. to W. Lincoln Ave. PLAN FILE NOS. AP-403 & U-2478
- 5. N/S and E/W alleys between S. 78 St. and S. 79 St.: W. Rogers St. to W. Becher St. PLAN FILE NOS. AP-404 & U-2479
- 6. N/S and E/W alleys between S. 55 St. and S. 56 St.: W. Lincoln Ave. to W. Hayes Ave. PLAN FILE NOS. AP-405 & U-2480
- 7. N/S and E/W alleys between S. 66 St. and S. 67 St.: W. Beloit Rd. to W. Lincoln Ave. PLAN FILE NOS. AP-406 & U-2481
- 8. N/S and E/W alleys between S. 71 St. and S. 72 St.: W. Lincoln Ave. to W. Stuth Pl. PLAN FILE NOS. AP-407 & U-2482
- 9. N/S and East/West alleys between S. 77 St. and S. 78 St.: W. Hicks St. to W. Rogers St. PLAN FILE NOS. AP-408 & U-2483
- 10.N /S and E/W alleys between S. 54 St. and S. 55 St.: W. Lincoln Ave. to W. Hayes Ave. PLAN FILE NOS. AP-409 & U-2484
- 11.N /S and E/W alleys between S. 59 St. and S. 60 St.: W. Mobile St. to W. Grant St. PLAN FILE NOS. AP-410 & U-2485

12.N /S and E/W alleys between S. 56 St. and S. 57 St.: W. Beloit Rd. to W. Burnham St. PLAN FILE NOS. AP-411, S-1368 & U-2486

13.N /S and E/W alleys between S. 56 St. and S. 57 St.: W. Lapham St. to W. Mitchell St. PLAN FILE NOS. AP-412 & U-2487

14.N /S and E/W alleys between S. 57 St. and S. 58 St.: W. Walker St. to W. Mineral St. PLAN FILE NOS. AP-416 & U-2488

for the sum of Seven Hundred Sixty-Six Thousand Three Hundred Fifty-Eight and 25/100 Dollars (\$1,210,956.00)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds, Storm Water Management Funds, Water Utility Funds, Bond Funds and Funds from Special Assessments.

ADOPTED

JUN 16 2009

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

Dan Devine, Mayor

# City of West Allis 2009 Project No. 7 Bid Opening - 6/11/09 ALLEY RECONSTRUCTION

1. E/W alley between 60-61: Grant-Lincoln

2. N/S alley between 72-73: Rogers-Becher

3. N/S alley between 89-90: Vincent-Orchard

4. N/S alley between 80-81: Grant-Lincoln

5. N/S alley between 78-79: Rogers-Becher

6. N/S, E/W alleys between 55-56: Lincoln-Hayes

7. N/S, E/W alleys between 66-67: Beloit-Lincoln

8. N/S, E/W alleys between 71-72: Lincoln-Stuth

9. N/S, E/W alleys between 77-78: Hicks-Rogers

10. N/S, E/W alleys between 54-55: Lincoln-Hayes

11. N/S alley between 59-60: Mobile-Grant

12. N/S alley between 56-57: Beloit-Burnham

13. N/S alley between 56-57: Lapham-Mitchell

14. N/S alley between 57-58: Walker-Mineral

				Bid Bond 5%		Bid Bond 5% Willkomm Excavating		Bid Bond 5%		nd 5%
			Capitol Pavers, Inc		& Grading, Inc.		D.C. Burbach		LaLonde Contractors, Inc.	
			18005 W. Lincoln Ave.		17108 County Line Road		W228 N2762 Duplainville Rd.		2929 S. Chase Ave.	
			New Berli	ņ, <b>W</b> I 53146	Union Grove	e, WI 53182			Milwaukee,	WI 53207
ITEM	U	NITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1 Excavation	2,275	Cu. Yds.	\$19.00	43,225.00	\$25.40	57,785.00	\$21.25	48,343.75	\$21.81	49,617.75
2 Sodding	1,560	Sq. Yds.	\$9.00	14,040.00	\$10.10	15,756.00	\$14.50	22,620.00	\$12.70	19,812.00
3 Modular Block Wall, Complete	390	Sq. Ft.	\$30.00	11,700.00	\$34.00	13,260.00	\$28.00	10,920.00	\$34.80	13,572.00
4 Asphalt/Concrete Sawing	11,070	Lin. Ft.	\$1.30	14,391.00	\$1.37	15,165.90	\$1.30	14,391.00	\$1.25	13,837.50
5 Walk & Drive Removal	27,270	Sq. Ft.	\$0.60	16,362.00	\$0.65	17,725.50	\$0.65	17,725.50	\$0.79	21,543.30
6 Curb Removal	580	Lin. Ft.	\$3.00	1,740.00	\$4.75	2,755.00	\$5.25	3,045.00	\$6.62	3,839.60
7 Pavement Removal	14,300	Sq. Yds.	\$4.00	57,200.00	\$4.60	65,780.00	\$5.85	83,655.00	\$4.91	70,213.00
8 Fence Removal & Replacement	120	Lin. Ft.	\$75.00	9,000.00	\$15.00	1,800.00	\$26.00	3,120.00	\$15.00	1,800.00

9 5" Concrete Walk & Drive	19,810	Sq. Ft.	\$4.00	79,240.00	\$3.25	64,382.50	\$3.70	73,297.00	\$4.09	81,022.90
10 7" Concrete Walk & Drive	3,770	Sq. Ft.	\$4.10	15,457.00	\$3.75	14,137.50	\$4.30	16,211.00	\$5.36	20,207.20
11 31" Concrete Curb and Gutter	540	Lin. Ft.	\$30.00	16,200.00	\$28.00	15,120.00	\$23.10	12,474.00	\$30.45	16,443.00
12 7" Concrete Alley Pavement	14,300	Sq. Yds.	\$30.00	429,000.00	\$30.00	429,000.00	\$31.25	446,875.00	\$30.02	429,286.00
13 Joint Sealing	14,300	Sq. Yds.	\$1.05	15,015.00	\$1.50	21,450.00	\$1.05	15,015.00	\$0.89	12,727.00
14 Pavement Ties	330	Each	\$5.00	1,650.00	\$9.00	2,970.00	\$5.00	1,650.00	\$8.50	2,805.00
15 Crushed Stone Driveway	96	Tons	\$15.00	1,440.00	\$23.15	2,222.40	\$21.00	2,016.00	\$16.76	1,608.96
16 Base Aggregate Dense, 1-1/4"	4,650	Tons	\$13.00	60,450.00	\$17.40	80,910.00	\$13.00	60,450.00	\$15.13	70,354.50
17 Tack Coat	134	Gallons	\$3.00	402.00	\$3.15	422.10	\$3.00	402.00	\$3.00	402.00
18 HMA Pavement (Type E-0.3)	127	Tons	\$130.00	16,510.00	\$136.50	17,335.50	\$130.00	16,510.00	\$130.00	16,510.00
198" Dia. Sanitary Sewer Relay	285	Lin. Ft.	\$104.00	29,640.00	\$78.00	22,230.00	\$105.00	29,925.00	\$105.00	29,925.00
20 3'-6" Dia. O.D. Sanitary Manhole (1)	16	Vert. Ft.	\$782.00	12,512.00	\$600.00	9,600.00	\$440.00	7,040.00	\$440.00	7,040.00
21 3'-6" Dia. Sanitary Manhole (2)	15	Vert. Ft.	\$230.00	3,450.00	\$555.00	8,325.00	\$290.00	4,350.00	\$290.00	4,350.00
22 Sanitary Reconnections	3	Units	\$100.00	300.00	\$550.00	1,650.00	\$200.00	600.00	\$200.00	600.00
23 Install Internal Sanitary Manhole Seals		Units	\$148.00	444.00	\$215.00	645.00	\$125.00	375.00	\$125.00	375.00
24 12" Dia. Storm Sewer Relay	299	Lin. Ft.	\$77.00	23,023.00	\$55.00	16,445.00	\$46.00	13,754.00	\$46.00	13,754.00
25 12" Dia. Storm Sewer	63	Lin. Ft.	\$77.00	4,851.00	\$49.00	3,087.00	\$44.00	2,772.00	\$44.00	2,772.00
26 10" Dia. Storm Underdrain	4,154	Lin. Ft.	\$34.00	141,236.00	\$33.00	137,082.00	\$36.90	153,282.60	\$36.90	153,282.60
27 10" Dia. C900 PVC Storm Underdrain	158	Lin. Ft.	\$40.00	6,320.00	\$37.00	5,846.00	\$43.00	6,794.00	\$43.00	6,794.00
28 6" Dia. Storm Underdrain	2,989	Lin. Ft.	\$32.00	95,648.00	\$35.00	104,615.00	\$33.00	98,637.00	\$32.90	98,338.10
29 3'-6" Dia. Storm Manhole (3)	17	Vert. Ft.	\$260.00	4,420.00	\$335.00	5,695.00	\$310.00	5,270.00	\$310.00	5,270.00
30 Storm Service Reconnections	2	Units	\$100.00	200.00	\$320.00	640.00	\$300.00	600.00	\$300.00	600.00
31 Alley Type Catch Basins	51	Units	\$995.00	50,745.00	\$1,402.00	71,502.00	\$1,050.00	53,550.00	\$1,050.00	53,550.00
32 Adjust Storm Manhole Frames	4	Each	\$525.00	2,100.00	\$480.00	1,920.00	\$260.00	1,040.00	\$260.00	1,040.00
33 Adjust Sanitary Manhole Frames	1	Each	\$525.00	525.00	\$565.00	565.00	\$500.00	500.00	\$260.00	260.00
34 Inlet Protection Barrier	69	Units	\$30.00	2,070.00	\$55.00	3,795.00	\$45.00	3,105.00	\$45.00	3,105.00
35 Manhole Protection Barrier	9	Units	\$50.00	450.00	\$148.00	1,332.00	\$90.00	810.00	\$90.00	810.00
36 Traffic Control	1	Lump Sum	\$30,000.00	30,000.00	\$7,000.00	7,000.00	\$9,000.00	9,000.00	\$15,200.00	15,200.00
Total				1,210,956.00		1,239,951.40		1,240,124.85		1,242,667.41